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RANER H28 H29 H30 Ri R2 HEHE(A) | I (%)
FEEHB () 68 46 45 62 57 -5 -8.1%
EHEH(N) 92 51 55 70 64 -6 -8.6%
& 13 7 8 12 14 2 16.7%
THFHE 1 0 2 1 2 11 100.0%
ai5E 13 13 12 17 9 -8  -47.1%
BERHE 65 31 33 40 39 -1 -2.5%
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RANER H28 H29 H30 R1 R2 | sims(A) | HIHE (%)
FEEHR () 14 13 17 14 25 11 78.6%
IKEEEH(N) 14 15 18 17 28 11 64.7%
& 8 4 11 6 11 5 83.3%
THTBEE 0 2 1 0 0 of -
ai5E 2 1 2 2 3 1 50.0%
BEHHE 4 8 4 9 14 5 55.6%




3 Lyy—- A

R— F D3

5t A

BZEH

 EERHEY —o—-FAENGH

AR 14
12 /
N ~
8 /
. \ /
) T~
2 -
0 :. , l_ = . . ,
H28 29 30 45 2
RANER H28 H29 H30 R1 R2 A (A) | IR (%)
FEEHR(E) 7 5 3 8 12 4 50.0%
FEEANBN) 7 5 3 10 17 7 70.0%
EEH 2 0 1 2 1 -1 -50.0%
THARE 0 0 0 0 0 0 -
a5E 5 4 1 8 11 3 37.5%
\|EREE 0 1 1 0 5 5/ 500.0%
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BB 872 1,299 924 670 929 259 38.7%
BEETEH 972 1,507 999 740 961 221 29.9%
ABHEHH 19 20 7 14 8 -6| -42.9%
wWEEN) 19 20 7 16 9 -7|  -43.8%
®E 4 1 0 0 1 1 100.0%
X 5 5 3 6 2 -4  -66.7%
238 10 14 4 10 6 -4  -40.0%




